Announcements April 25

ClOS open: additional dropped quiz for 85% response rate (measured at start of final)
Review on Friday April 29 at 6:30-8:00 in Skiles 154

Final Exam and

Office Hours Tue 2-3 and Wed 2-3

LA Office Hours: Scott Mon 12-1, Yashvi Mon 2-3, Shivang Tue 5-6, Baishen Wed 4-5,
Matt Thu 3-4

Math Lab, Clough 280
» Regular hours: Mon/Wed 11-5 and Tue/Thu 11-5
e Math 1553 hours: Mon-Thu 5-6 and Tue/Thu 11-12

e LA hours: Matt Tue 11-12, Scott Tue 5-6, Baishen Thu 11-12, Yashvi/Shivang Thu 5-6



Inconsistent

What is the difference between a system of equations being inconsistent and a
system having infinitely many solutions?
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One-to-one and onto

Do the following give linear transformations that are one-to-one? onto?
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Exam 1
Problem 5

(a) Consider the matrix

- (7 )

and let T4 be the associated linear transformation.

Is T'A4 one-to-one? k\e/j) ?]YDJ( )\V\ m\/\ ODL

Find one nonzero vector b in the range of T'4.

|
0
0



LU Decompositions

Consider the matrix

Find an LU decomposition of A.
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LU Decompositions

Use your LU decomposition from above to solve the equation Ax = b where

() A-LU

3

Show clearly the two steps.
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Exam 1
Problem 5

(b) Find a matrix A so that T4 is the linear transformation R* — R* obtained
by first reflecting about the line y = —x and then rotating clockwise by 7 /2.
(Note: this problem is completely independent of the first problem on this




Least Squares

Consider the points (0,0), (0,1), (1,—1), and (—1,0) in the zy—plane.

Find the best fit line.

Find the best fit quadratic y = f(x).

Find the best fit cubic y = f(x).
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